% Warm Up %

a) Given the following shape determine the perimeter.
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b) Determine the perimeter of the triangle when x = 2. (Show your work)
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Write a polynomial that matches the description:

variables: x and y, Degree: 8; Trinomial, Constant: -4
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What do | add to 16x°+2x -1 to
get 18x° - 5x +7 as the result?
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Add the following

(5x* + 12x -10) + (-7x° -15x + 19)

- - axg\ — How many terms are in your final
X + answer?



Subtract the following:

(21y% -10y +14) -|(2y + y* - 4 + 7x)
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Divide or Multiply

a) (45x° -72x)= 9x




L1aSS/ HOME WO ek
Pg 259 - 261

#Ga)b, c
#9/a) b

ig: A
H

W/ #16 (important)

#19 @) _
#22 @c,h k| 20
#26 @C’e’g W

#280)d, f

V#29.,b ((mpoctant)



	Page 1: Feb 21-9:46 AM
	Page 2: Feb 21-9:49 AM
	Page 3: Feb 21-9:52 AM
	Page 4: Feb 21-9:53 AM
	Page 5: Feb 21-9:55 AM
	Page 6: Feb 21-9:56 AM
	Page 7: Feb 21-9:58 AM

